PROTECTED

HORIZON
POWER

energy for life

Distribution Design Catalogue —

Section 11:
LU — Low Voltage Underground

Standard Number: HPC-1DC-07-0011-2014



HORIZ

POWER

energy for life

PROTECTED

Document Control

Revision 9 Author Name: Andrew Nguyen Digitally signed by
3 Andrew Nguyen
. ] y /- Date: 2024.05.22
Position:  Standards Engineer . 12:40:25 +08'00'
- . Digitally si d by Kai Ch
Reviewed By Name: Kai Chong Jee Digaly signed by Ka Chong
DN: cn=Kai Chong Jee,
) = o=l_-|onzon Power,
ition: ' I« ekl o @horzonpower
Position:  Senior Standards and ) ekl oo
Plant Englneer Egé%gozz:.os.zz 12:51:04
Endorsed By Name: Johnathan Choi Digitally signed
by Johnathan
Choi

Position: Standards and Plant
Manager

Date: 2024.05.22
12:57:05 +08'00

Approved By * Name: Victor Cheng

Digitally signed

@”_ by Victor Cheng
Date: 2024.05.24

11:33:05 +08'00'

Position:  Senior Manager
Engineering Projects &
Services

Date Created/Last Updated 22" May 2024

Review Frequency ** Annually

Next Review Date ** 22n May 2025

*

Shall be the Process Owner and is the person assigned authority and responsibility for managing the whole
process, end-to-end, which may extend across more than one division and/or functions, in order to deliver agreed
business results.

** Frequency period is dependent upon circumstances— maximum is 5 years from last issue, review, or revision
whichever is the latest. If left blank, the default shall be 1 year unless otherwise specified.

Revision Control

Revision Date Description

9 22/05/2024 Compatible Unit LUs update

Please see Appendix A for full revision history

STAKEHOLDERS
The following positions shall be consulted if an update or review is required:

Asset Managers Field Practice Coordinators

Works Delivery Managers Logistic Manager

Asset Service Delivery Managers EPCM Contract Manager

DM# 2488202 HPC-1DC-07-0013-2014 Page 2 of 81 Print Date 13/05/2024
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

LOW VOLTAGE UNDERGROUND LIST

Ccu CU DESCRIPTION

LU1 LV Breeches joint 120-240 Main to 120-240 Branch
LU2 LV Straight joint 120/240, 185/185, 185/240 & 240/240
LU4 LV Tee joint 25/120-25/185

LU5 LV Tee joint 25/240

LU7 240 Universal pillar termination — 120 to 240

LU8 Straight joint 25/25

LU9 240 240sqmm Cable to LV Krone

LU10 Mini pillar & 1 x 25sqmm cable termination

LU10 2TERM Mini pillar & 2 x 25sqmm cable termination

LU10_CABTERM

25sqmm cable termination to existing pillar

LU10 W/END Mini pillar used for working end
LUt Universal pillar

LU12 Tee joint 10/10-10/16-16/16
LU13 Straight joint 10/10-10/16-16/16

LU14 16/160A

Cable to fuse switch- 16 (Single phase) / 160A Base

LU14_25/160A

Cable to fuse switch- 25 / 160A Base

LU14_25/630A

Cable to fuse switch- 25 / 630A Base

LU14 120

Cable to fuse switch - 120

LU14 240

Cable to fuse switch — 185 / 240

LU16_400CU16

Transformer 400sqmm Cu M16 Termination Kit

LU16_400CU12

PENDA 400sqmm Cu M12 Termination Kit

LU34 Wall mounted box — 100 amp

LU35 Wall mounted box — 200 amp

LU36_63A J-type fuse 63A and carrier for universal pillar
LU36_100A J-type fuse 100A and carrier for universal pillar
LU36_160A J-type fuse 160A and carrier for universal pillar
LU36_200A J-type fuse 200A and carrier for universal pillar
LU36_315A J-type fuse 315A and carrier for universal pillar
LU36_Link Link 400 amp for universal pillar

LU37 240 Cable to LV ABC Switch for a 240sqmm sq cable
LU41 Base for LV kiosk Type 1

LU42 Base for LV kiosk Type 2

LU43 Base for LV kiosk Type 3

LU50 25 95 Cable to LVABC — 25 to 95

LU50 25 150 Cable to LVABC - 25 to 150

LUSO SL 95 Street light cable to 95 ABC

LU50 SL 150 Street light cable to 150 ABC

LU51 25 25sqmm CU cable to LV Bare Conductor

DM# 2488202 HPC-1DC-07-0013-2014

Page 3 of 81

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.

Print Date 10/05/2024




PROTECTED

Ccu CU DESCRIPTION

LU5S1 SL Street light cable to LV Bare Conductor

LU52 Below Ground Service Pit

LU53 Low Voltage Cable Joint Kit

LUG3 Type 1.1 PENDA Kiosk

LUG4 | Type 2.1 PENDA Kiosk - | (Indoor)

LU64 O Type 2.1 PENDA kiosk - O (Outdoor)

LUGS | Type 3.1 PENDA Kiosk - | (Indoor)

LUB5 O Type 3.1 PENDA Kiosk - O (Outdoor)

LUGE TX 2000A Tx Switch Disconnector (Incoming Supply to PENDA)

LU66 CUST 2000A Customer Switch Disconnector (Connection to PENDA)

LU67 1260A Fused Switch Disconnector (Connection to PENDA)

LUG8 910A Fused Switch Disconnector (Connection to PENDA)

LU69 630A Fused Switch Disconnector (Connection to PENDA)

LU70 160A Fused Switch Disconnector (Connection to PENDA)
DM# 2488202 HPC-1DC-07-0013-2014 Page 4 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

120-260 MAIN | [120/240 « Lv CABLE tABE TO
10 ‘20_2“0' N8BS/ 185185/240 257120 257185 257240 TERMINATION 25-25 Lv KRO\E
BRANC Lu1| (2607240 Luz LU LUS Lu? LU U9
MINI PILLAR| | UNI PILLAR | [16/16 T JOINT|| 10/16-10/16 LV TERM TERM KIT 100AMP
LU10 LN Lu1? LU13 LUtL LU% LU34
W?’ :
@@ % ]]1' LV KIOSK LY XIOSK LY KIOSK .
BASE BASE BASE 10/16 & 25
200AMP LINK/FUSE | | CABLE-LVABC TYPE 1 TYPE 2 TYPE 3 / LVABC
LU3S LU36 LU37 Lus1 LUL2 LU43 LUSO
= ¢
& PENDA PENDA
10/16 & 25 LV CABLE TYPE 2. TYPE 3.
/ LVBARE CABLE PIT JOINT KIT . . 2000A DISC.
LUS1 LUs2 LUS3 LU63 LUL LS Luss
1260A FUSED|| 910A FUSED 630A FUSED || 160A FUSED
DISC. DISC. DISC. 0ISC.
LU67 LU8 LU&9 LU70
REVISION] DATE
HORIZON COMPATIBLE UNIT 6 fasossaon
POWER DRAWING No.
DISTRIBUTION DESIGN
ATALOGL !
OPERATIONS DIVISION

DM# 2488202 HPC-1DC-07-0013-2014 Page 5 of 81 Print Date 13/05/2024
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

BRANCH CABLE

NEUTRAL CONNECTOR
S [T
=
w | DT
=1E:S
o
w
T
3 =
PHASE CONNECTOR
¥4 1
MAIN (THROUGH) EABLE/Q/

REVISION( DATE

HORIZON COMPATIBLE UNIT 2 b/or/z0
POWER

DISTRIBUTION DESIGN LV BREECHES JOINT DRAWING Ho:

CATALOGUE 120-240 MAIN T0 120-240 BRANCH LU
\_ OPERATIONS DIVISION J
DM# 2488202 HPC-1DC-07-0013-2014 Page 6 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Cu CU DESCRIPTION
LU1 Breeches joint 120-240 Main to 120-240 Branch
ITEM STock DESCRIPTION QTYRap | UNITOF | REMARKS
NUMBER | Nymeer MEASURE
1 FJ0063 | LV Breech Joint kit —120-240sgmm to 120-240 sgmm 1 ea
wavecon XLPE cable
KC0014 | LV Joint resin, Guroflex two-part 4 litre 5 ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 7 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

MAIN (THROUGH) CABLE

NEUTRAL CONNECTQOR

RED

Sk

PHASE CONNECTOR —

WHITE
P

MAIN (THROUGH) CABLE

NEUTRAL CONNECTOR

COMPATIBLE UNIT

REVISION| DATE
2 01/07/2020

O

DISTRIBUTION DESIGN

OPERATIONS DIVISION

LV STRAIGHT JOINT

CATALOGUE 120/240, 1857185, 185/240 & 240/240

DRAWING No.

LUZ

L=

il

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.

Page 8 of 81

Print Date 10/05/2024



PROTECTED

Ccu CU DESCRIPTION
LU2 Straight joint 120/120-120/185-120/240-185/185-185/240-240/240
ITEM STOoCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FJ0062 | LV Straight Joint kit —120-240sqmm wavecon XLPE 1 ea
cable
KC0014 | LV Joint resin, Guroflex two-part 4 litre 2 ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 9 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

MAIN (THROUGH} CABLE

SERVICE TEE CABLE ~\
= /\O

|
\\
/

AN
SERVICE TEE CABLE /

MAIN {THROUGH) CABLE /

REVISION| DATE
Hnﬂ LY COMPATIBLE UNIT 5 61/07 /2020
DISTRIBUTION DESIGN LV TEE JOINT DRAWING No.

CATALOGUE 257120 & 25/185 LUL
OPERATIONS DIVISION

L _

DM# 2488202 HPC-1DC-07-0013-2014 Page 10 of 81 Print Date 10/05/2024
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Ccu CU DESCRIPTION
LU4 LV Tee joint 25/120-25/185
ITEM STOoCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FJ0067 | LV Tee Joint kit —120-185sqmm wavecon to 25sqmm 1 ea
service XLPE cable
KC0014 | LV Joint resin, Guroflex two-part 4 litre 2 ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 11 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

AN

SERVICE TEE CABLE /

MAIN {THROUGH) CABLE

MAIN {THROUGH) CABLE

SERVICE TEE CABLE \

/\/O

-~ POWER
DISTRIBUTION DESIGN
CATALOGUE

COMPATIBLE UNIT

REVISION| DATE
2 01/07/2020

OPERATIONS DIVISION

LV TEE JOINT
25/240

DRAWING No.

LUS

il

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.

Page 12 of 81

Print Date 10/05/2024



PROTECTED

Ccu CU DESCRIPTION
LUS Tee joint 25/240
ITEM STOoCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FJ0066 | LV Tee Joint kit —240sgmm wavecon to 25sqmm service 1 ea
XLPE cable
KC0014 | LV Joint resin, Guroflex two-part 4 litre 2 ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 13 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

RN

N
N0

R
NN
N

NN

R

R
NN

\\\\
NN
Nl
AW

S
R
R
N
R

S
NN
N
.\\\\\\\\\ 38
AR
RN
RS
RN

S
N
RN

\

N

N
N
N
N
N

e
R
N

R

DISTRIBUTION DESIGN
CATALOGUE

OPERATIONS DIVISION

REVISION| DATE

COMPATIBLE UNIT 5 Sy
UNIVERSAL PILLAR DRAWING No.
TERMINATION U7

-

il

DM# 2488202 HPC-1DC-07-0013-2014 Page 14 of 81
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.

Print Date 10/05/2024



PROTECTED

Ccu CU DESCRIPTION
LU7_240 Universal pillar termination — 120 to 240
ITEM STOoCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FJ0615 | Termination Kit, for 120-240sqmm cable 1 ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 15 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

OUTER SLEEVE

ARRRALRY

[ RN
AREEIRILY

COMPATIBLE UNIT

REVISION| DATE

3 MAR 2020
DRAWING No.
DISTRIBUTION DESIGN
CATALOGUE 25/25 STRAIGHT JOINT LU8
\_ OPERATIONS DIVISION

DM# 2488202 HPC-1DC-07-0013-2014

Page 16 of 81

il

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.

Print Date 10/05/2024



PROTECTED

Ccu CU DESCRIPTION
LU8 Straight joint 25/25
ITEM STOoCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FJ0238 | Joint Box — Straight for 25sgmm cable 1 ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 17 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

NEUTRAL

©
)

I 7%

\
A
U

VYA

3=

‘

[ = = i

T

/’\// /\//\ o AVA /\\/\\\/\\-

O

DISTRIBUTION DESIGN
CATALOGUE

COMPATIBLE UNIT

REVISION| DATE
2 MAR 2020

CABLE TO LV KRONE

OPERATIONS DIVISION

DRAWING No.

LU9

al

DM# 2488202 HPC-1DC-07-0013-2014 Page 18 of 81

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.

Print Date 10/05/2024



PROTECTED

Cu CU DESCRIPTION
LU9_240 240sgmm Cable to LV Krone
ITEM Stock DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FC0499 | Splice 95-150 ABC to 120-240sqmm 1 ea
2 GS0111 | Fuse disconnector (Rated 400A) 1 ea
2 GF1101 | Fuse link 315A 3 ea
3 GS0109 | Neutral block 1 ea
4 PG Clamps - Select from CN9 4 ea
5 CJ0496 | Splice 150 ABC with alum tail 4 ea
6 CB3120 | Cable saddle, galvanised 3 ea
7 HT6320 | Cable protector steel, galvanised channel 1 ea
8 FT0150 | Lead 150 ABC 4m long 1 ea
9 AB6733 | Pole bolt— M16 x 400 mm long with nut and washers 4 ea
10 CCO0110 | Suspension clamp - 150 ABC 4 ea
10 AN2005 | M16 nut galvanized 2 ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 19 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

RED SPOT FUSE
UMS/STREETLIGHT

25sqmm SERVICE CABLE

255qmm SERVICE CABLE EARTH CLAMP
ABOVE SOIL LEVEL

TERMINATIONS TERMINATIONS
REAR VIEW FRONT VIEW

\ BOLTED TO

EARTH ELECTRODE

w COMPATIBLE UNIT
POWER

REVISION| DATE
3 19/10/2021

DISTRIBUTION DESIGN MINI PILLAR
CATALOGUE & TERMINATIONS

OPERATIONS DIVISION

DRAWING No.

LU0

s

al

DM# 2488202 HPC-1DC-07-0013-2014 Page 20 of 81
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.

Print Date 10/05/2024



PROTECTED

Cu CU DESCRIPTION
LU10 Mini pillar & 1 x 25sgmm cable termination
ITEM Stock DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FBH0059 | Mini pillar 1 ea
5 CE0135 | Rod section 1.4 m long 15 mm diam. ALM CTE 1 ea
CE0058 | Clamp, double saddle type 13-15mm for earth rod 1 ea
3 FE0109 | heat shrink glove and sleeving 1 ea
Cu CU DESCRIPTION
LU10_2TERM Mini pillar & 2 x 25sgmm cable termination
ITEM STtocK DESCRIPTION QTY Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FBH0059 | Mini pillar 1 ea
2 CE0135 | Rod section 1.4 m long 15 mm diam. ALM CTE 1 ea
CE0058 | Clamp, double saddle type 13-15mm for earth rod 1 ea
3 FE0109 | heat shrink glove and sleeving 2 ea
Cu CU DESCRIPTION
LU10_CABTERM 25sgmm cable termination to existing pillar
ITEM Stock DESCRIPTION QT1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
3 FE0109 | heat shrink glove and sleeving 1 ea
Cu CU DESCRIPTION
LU10_W/END Mini pillar used for 120-240 Cable Working End
ITEM Stock DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FBH0059 | Mini pillar 1 ea
FE0034 | heat shrink glove 1 ea
3 FE0055 | insulation sleeving 2 mtr
UHO0088 | instruction tag 1 ea

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Page 21 of 81

Uncontrolled document when downloaded. Refer to DM10 for current version.

Print Date 14/05/2024




PROTECTED

GlL.

[o]e) -l

O

2N\

R

DISTRIBUTION DESIGN
CATALOGUE

COMPATIBLE UNIT

REVISION| DATE
3 MAR 2020

OPERATIONS DIVISION

UNIVERSAL PILLAR

DRAWING No.

LU

L=

al

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.

Page 22 of 81

Print Date 10/05/2024



PROTECTED

Ccu CU DESCRIPTION
LU11 Universal pillar
ITEM Stock DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FBHO0855 | Universal pillar 1 ea
2 CE0135 | Rod section 1.4 m long 15 mm diam. ALM CTE 1 ea
3 CE0058 | Clamp, double saddle type 13-15mm for earth rod 1 ea

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Page 23 of 81

Uncontrolled document when downloaded. Refer to DM10 for current version.

Print Date 10/05/2024




PROTECTED

ACTIVE

ﬁ NEUTRALS
!

CENTRE OF JOINT

STAGGER NEUTRAL
CONNECTORS EACH

\

SIDE OF CENTRE

-

DISTRIBUTION DESIGN
CATALOGUE

COMPATIBLE UNIT

REVISION| DATE
2 MAR 2020

OPERATIONS DIVISION

TEE JOINT 10/10, 10716 & 16/16

DRAWING No.

LU12

L=

il

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.

Page 24 of 81

Print Date 10/05/2024



PROTECTED

Ccu CU DESCRIPTION
LU12 Tee joint 10/10-10/16-16/16
ITEM STOoCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FJ0056 | Joint Box — Tee for 10-16 sqmm 1ph cable 1 ea Guroflex

Resin
included
in Kit

DM# 2488202 HPC-1DC-07-0013-2014 Page 25 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

INSULATING SLEEVE

OUTER SLEEVE

REVISION| DATE
HORIZON COMPATIBLE UNIT 5 liisineanad
POWER
DRAWING No.
DISTRIBUTION DESIGN
CATALOGUE STRAIGHT JOINT 10/10, 10/16 & 16/16 LUT3
OPERATIONS DIVISION

- _

DM# 2488202 HPC-1DC-07-0013-2014 Page 26 of 81 Print Date 10/05/2024
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Ccu CU DESCRIPTION
LU13 Straight joint 10/10-10/16-16/16
ITEM STOoCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FJ0237 | Joint Box — Straight for 10-16 sqmm 1ph cable 1 ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 27 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

N [
REVISION| DATE
I-III/RIZIRL COMPATIBLE UNIT > mar 2020
PONER DRAWING No.
DISTRIBUTION DESIGN
CATALOGUE CABLE TO FUSE SWITCH LU14
OPERATIONS DIVISION

s ml

DM# 2488202 HPC-1DC-07-0013-2014 Page 28 of 81 Print Date 10/05/2024
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

CuU CU DESCRIPTION
LU14_16/160A Cable to fuse switch — 16 (Single phase) /160A Base
ITEM SToCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FB0256 | 16sqmm M12 lug 2 ea
FE0032 | 2 finger heat shrink glove 1 ea
FE0071 | Heat-shrink tubing 1 mtr
2 GF0502 | Fuse 20A 1 ea
CuU CU DESCRIPTION
LU14_25/160A Cable to fuse switch — 25/160A Base
ITEM STOCK DESCRIPTION Q1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FL1442 | 25sgmm M8 lug 4 ea
FE0109 | 25sqmm Cable termination kit 1 ea
2 GF0504 | Fuse 63A 3 ea
CuU CU DESCRIPTION
LU14_25/630A Cable to fuse switch — 25/630A Base
ITEM STOCK DESCRIPTION Q1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
’ FL1449 | 25sgmm M12 lug 4 ea
FE0109 | 25sqmm Cable termination kit 1 ea
2 GF2130 | Fuse 100A 3 ea
CuU CU DESCRIPTION
LU14_120 Cable to fuse switch - 120
ITEM STOCK DESCRIPTION Q1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FJ0615 | Termination Kit, for 120sqmm to 240sqmm cable 1 ea
2 GF1096 | Fuse 200A 3 ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 29 of 81 Print Date 14/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Ccu CU DESCRIPTION
LU14_240 Cable to fuse switch — 185/240
ITEM STOoCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FJ0615 | Termination kit for 120-240sqmm cable 1 set
2 GF1101 Fuse link 315A 3 ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 30 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

W

REVISION| DATE
I-@ZNL COMPATIBLE UNIT o b3/07/2020
POWER
DRAWING No.
DISTRIBUTION DESIGN
CATALOGUE TRANSFORMER LV CABLE TERMINATION U6
OPERATIONS DIVISION

L= al

DM# 2488202 HPC-1DC-07-0013-2014 Page 31 of 81 Print Date 10/05/2024
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Cu

CU DESCRIPTION

LU16_400CU16

Transformer 400sgmm CU M16 Termination Kit

ITEM STOoCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FLO161 Termination Kit (2 per phase and 1 neutral with heat 1 ea
shrink)
Cu CU DESCRIPTION
LU16_400CU12 PENDA 400sqmm CU M12 Termination Kit
ITEM STOCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FLO160 | Termination Kit (2 per phase and 1 neutral with heat 1 ea
shrink)
DM# 2488202 HPC-1DC-07-0013-2014 Page 32 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

Py 7
©On ©
¥ 4

r ~
| | |
| | |
N
| 7]
| | |
i | i
ol
I N
@”‘"F' ! : ‘\‘ ! _‘P©
L J
r\@_ —I _éf\
o) O

o
o1

\ L

ozt

COMPATIBLE UNIT

REVISION| DATE
2 MAR 2020

DISTRIBUTION DESIGN WALL MOUNTED BOX DRAHING No,

CATALOGUE 100 AMP LU3L
|_ QPERATIONS DIVISION J
DM# 2488202 HPC-1DC-07-0013-2014 Page 33 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Cu CU DESCRIPTION
LU34 Wall mounted box — 100amp
ITEM Stock DESCRIPTION Q1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FB0096 | 100 amp cutout 1 ea
2 GF0505 | fuse 100 amp 3 ea
3 FM6310 | saddle 50 mm 3 ea
4 GC0010 | Conduit grey PVC, 50 mm x 4 m long 1 g
5 HT6320 | Cable protector steel, galvanised channel 1 ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 34 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

s ——— R
= — - —

R

COMPATIBLE UNIT

REVISION| DATE

2 MAR 2020
DISTRIBUTION DESIGN WALL MOUNTED BOX DRAWING No.
CATALOGUE 200 AMP LU35
|_ OPERATIONS DIVISION J
DM# 2488202 HPC-1DC-07-0013-2014 Page 35 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Ccu CU DESCRIPTION
LU35 Wall mounted box — 200amp
ITEM Stock DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FB0097 | 200 amp cutout 1 ea
2 GF0512 | fuse 200 amp 3 ea
3 FM6310 | saddle 50 mm 3 ea
4 (GC0028 | Conduit grey PVC, 80 mm x 4 m long 1 g
5 HT6320 | Cable protector steel, galvanised channel 1 ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 36 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

4 Als
G-I

HOR ZIN COMPATIBLE UNIT S et
DISTRIBUTION DESIGN LV FUSES/LINK DRAWING No.
CATALOGUE FOR UNIVERSAL PILLAR LU36
OPERATIONS DIVISION

L= ~ |

DM# 2488202 HPC-1DC-07-0013-2014 Page 37 of 81 Print Date 10/05/2024
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Ccu CU DESCRIPTION
LU36_63A J-type fuse 63A and carrier for universal pillar
ITEM STOoCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 GF1183 | 63A fuse 3 ea
2 GF0260 | fuse carrier 3 ea
Cu CU DESCRIPTION
LU36_100A J-type fuse 100A and carrier for universal pillar
ITEM STOCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 GF1185 | 100A fuse 3 ea
2 GF0260 | fuse carrier 3 ea
Cu CU DESCRIPTION
LU36_160A J-type fuse 160A and carrier for universal pillar
ITEM STOoCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 GF1187 | 160A fuse 3 ea
2 GF0260 | fuse carrier 3 ea
CuU CU DESCRIPTION
LU36_200A J-type fuse 200A and carrier for universal pillar
ITEM STOoCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 GF1188 | 200A fuse ea
2 GF0260 | fuse carrier ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 38 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Ccu CU DESCRIPTION
LU36_315A J-type fuse 315A and carrier for universal pillar
ITEM STOoCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 GF1190 | 315Afuse ea
2 GF0260 | fuse carrier 3 ea
Cu CU DESCRIPTION
LU36_Link Link 400 amp for universal pillar
ITEM STOCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
3 GF1504 | link 400A 3 ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 39 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

NOTES:
N & x CN65 TO BE ORDER DEPENDING ON THE SIZE OF THE MAIN LINE ABC.
n REVISION DATE
HORIZON COMPATIBLE UNIT 2 | MR 2020
POWER
oW DRAWING No.
DISTRIBUTION DESIGN
CATALOGUE CABLE TO LVABC SWITCH LU37
OPERATIONS DIVISION

L= ml

DM# 2488202 HPC-1DC-07-0013-2014 Page 40 of 81 Print Date 10/05/2024
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Cu CU DESCRIPTION
LU37_240 Cable to LV ABC Switch for 240sqmm cable
ITEM Stock DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FC0499 | Splice 95-150 ABC to 120-240sqmm 1 ea
2 FT0150 | Lead 150 ABC 4m long 1 ea
3 GS0111 | Fuse disconnector (Rated 400A) 1 ea
3 GF1101 | Fuse link 315A 3 ea
4 AB6733 | Pole bolt— M16 x 400 mm long with nut and washers 4 ea
5 CB3120 | Cable saddle, galvanised 3 ea
6 HT6320 | Cable protector steel, galvanised channel 1 ea
7 GS0109 | Neutral block 1 ea
8 CCO0110 | Suspension clamp - 150 ABC 4 ea
8 AN2005 | M16 nut galvanized 2 ea
9 IPC - Select from CN65 4 ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 41 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

T o s S S S S S S T
i 1
l: e e et = |
:H ] : r"_\H:
e o
| [~~~ """ T T T
I I
I I
I I
I I
| I e ———— R |
I RN I
| b i e il e e e i 9 1
I I
I I
I I
I I
I I
I I
I I
I I
I I
I S —— - I
= o o e ot et I
I IR I
|ttt e e e e e e e il
I I
I I
§ "
[ M
I I
1 1
1 T
1 1
1 1
1 1
[ 1
= Bler 2w 2 el P
I 1
1 1
1 1
I R I R 2 M 9 21 1
[Nk ot !
| 7 T |
- Ho
L1 | |
-8~ -8~
wal -

REVISION| DATE

OPERATIONS DIVISION

HOR 0N COMPATIBLE UNIT ISION]_ DATE
DISTRIBUTION DESIGN BASE FOR LV KIOSK DRAWING No.
CATALOGUE TYPE 1 LULT

L=

il

DM# 2488202 HPC-1DC-07-0013-2014 Page 42 of 81
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.

Print Date 10/05/2024



PROTECTED

Ccu CU DESCRIPTION
LU41 Base for LV kiosk Type 1
ITEM STOoCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 CBH0492 | PENDA Type 1 Kiosk Galvanised Stand and Base 1 ea
2 CAH1018 | Concrete Base for PENDA Type 1 and 2 Kiosk Stand 1 ea
Base
DM# 2488202 HPC-1DC-07-0013-2014 Page 43 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

B = - S K
_ "| ?ulﬂ _|_||l|__4|_ _u|1|_ 3
_ SH
AR
- -
L T e
[ Il _R___L _w_
_ " _ I _ [ _ |
1 i
I b b
I L rnu_._rjul_u__n_ﬂr
Il e TRl
b [ byt
[ [ T T
[ 11 | N |
[ 11 1 phgr ! |
_ | 11 1 T |
| 11 | TEI |
[ [ T
[ [ 1 | [ |
[ 11 | |
1lel I
[ 11 | |
it I
[ [ 1 | [ |
[ [ T
[ 11 | 1| |
_ o | 110
| _ _.uM._. l_ r_.LI_I._Iu..I._

DATE
20712723

LUL2Z

3

DRAWING No.
Print Date 10/05/2024

REVISION

COMPATIBLE UNIT
TYPE 2

BASE FOR LV KIOSK
Page 44 of 81

Uncontrolled document when downloaded. Refer to DM10 for current version.

CATALQGUE

DISTRIBUTION DESIGN
OPERATIONS DIVISION

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation




PROTECTED

Ccu CU DESCRIPTION
LU42 Base for LV Kiosk Type 2
ITEM STOoCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 CBH0493 | PENDA Type 2 Kiosk Galvanised Stand and Base 1 ea
2 CAH1018 | Concrete Base for PENDA Type 1 and 2 Kiosk Stand 1 ea
Base
DM# 2488202 HPC-1DC-07-0013-2014 Page 45 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

m
_LL2
N
oS3, m
ZM =¥
= = =
= =
D=
W <
& =
X
— w
— O
N —
oD e
[ > m
1 ]
m Lot
_.H xao
o >
<C L
= Ll
=
o w
] <C
m
= =
] o
7 7
0 o
Bos|5
£358|,
.I.ms
=
8 S5Sx |5
mb: | =
(- == |
)
[—] = P
— Y o
— o
(] { a2 )

Print Date 10/05/2024

Page 46 of 81

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Cu CU DESCRIPTION
LU43 Base for LV Kiosk Type 3
ITEM STOoCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 CBH0494 | PENDA Type 3 Kiosk Galvanised Stand and Base 1 ea
2 CAH1019 | Concrete Base for PENDA Type 3 Kiosk Stand Base 1 ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 47 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

_ (8) REFER NOTE 1
[

NOTES.
1. FOR FUSE MOUNTING DETAIL, REFER TO DISTRIBUTION CONSTRUCTION STANDARD A9
Hﬂﬂ REVISION DATE
/lme COMPATIBLE UNIT s |MAR 2020
DRAWING No.
DISTRIBUTION DESIGN CABLE TO LVABC g
CATALOGUE 255QMM XLPE LU50-1
OPERATIONS DIVISION

L= il

DM# 2488202 HPC-1DC-07-0013-2014 Page 48 of 81 Print Date 10/05/2024
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Cu CU DESCRIPTION
LU50_25_95 Cable to LVABC - 25 to 95
ITEM STocK DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FE0031 | Heat shrink glove 0.6/1kV, black polyolefin, 4-finger 1 ea
2 GC0010 | Conduit grey PVC, 50 mm x 4 m long 2 ea
3 FE0071 | Heat shrink 0.6/1kV, black polyolefin 15mm 5 mtr
5 CC0088 | Insulation piercing clamp 95 ABC Main to 2 x 35 service 4 ea Max 2
cables
7 HT6320 | Cable protector steel, galvanised channel 1 ea
GF1801 | Fuse holder 100 amp 3 ea
8 GF1947 | Fuse cartridge 100 amp 3 ea
CB3019 | Mounting T-bracket for fuse holders 1 ea
CB3054 | Flowline fuse mounting bracket, steel galvanised 1 ea
9 CC0101 | Suspension clamp, 95 ABC 2 ea
9 AN2005 | M16 nut galvanized 2 ea
10 AB6733 | Pole bolt — M16 x 400 mm long with nut and washers 1 ea
Cu CU DESCRIPTION
LU50_25_150 Cable to LVABC - 25 to 150
ITEM STocK DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FE0031 | Heat shrink glove 0.6/1kV, black polyolefin, 4-finger 1 ea
2 GCO0010 | Conduit grey PVC, 50 mm x 4 m long 2 ea
3 FE0071 | Heat shrink 0.6/1kV, black polyolefin 15mm 5 mtr
5 CC0079 | Insulation piercing clamp 150 ABC Main to 2 x 35 service 4 ea Max 2
cables
7 HT6320 | Cable protector steel, galvanised channel 1 ea
GF1801 | Fuse holder 100 amp 3 ea
GF1947 | Fuse cartridge 100 amp 3 ea
8 CB3019 | Mounting T-bracket for fuse holders 1 ea
CB3054 | Flowline fuse mounting bracket, steel galvanised 1 ea
9 CCO0101 | Suspension clamp, 95 ABC 2 ea
9 AN2005 | M16 nut galvanized 2 ea
10 AB6733 | Pole bolt — M16 x 400 mm long with nut and washers 1 ea

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Page 49 of 81

Uncontrolled document when downloaded. Refer to DM10 for current version.

Print Date 14/05/2024




PROTECTED

NOTES:
1) FOR FUSE MOUNTING DETAIL, REFER TO DISTRIBUTION CONSTRUCTION STANDARD A9.
REVISION| DATE
HOR & COMPATIBLE UNIT 7 MAR 2020
WER DRAWING No.
DISTRIBUTION DESIGN CABLE TO LVABC 9

CATALOGUE 10/165QMM XLPE LUS0-7
OPERATIONS DIVISION

L= il

DM# 2488202 HPC-1DC-07-0013-2014 Page 50 of 81 Print Date 10/05/2024
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Cu CU DESCRIPTION
LU50_SL_95 Street light cable to 95 ABC
ITEM STocK DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FE0032 | Heat shrink glove 0.6/1kV, black polyolefin, 2-finger 1 ea
2 GC7842 | Conduit PVC 25 mm, 4 m long, grey 2 ea
3 FE0071 | Heat shrink 0.6/1kV, black polyolefin 15mm 4 mtr
5 CC0088 | Insulation piercing clamp 95 ABC Main to 2 x 35 service 2 ea Max 2
cables
7 HT6320 | Cable protector steel, galvanised channel 1 ea
GF1801 | Fuse holder 100 amp 1 ea
GF1940 | Fuse cartridge 30 amp 1 ea
8 CB3019 | Mounting T-bracket for fuse holders 1 ea
CB3054 | Flowline fuse mounting bracket, steel galvanised 1 ea
9 CC0101 | Suspension clamp, 95 ABC 2 ea
9 AN2005 | M16 nut galvanized 2 ea
10 AB6733 | Pole bolt — M16 x 400 mm long with nut and washers 1 ea
Cu CU DESCRIPTION
LU50_SL_150 Street light cable to 150 ABC
ITEM SToCcK DESCRIPTION QTY Rap UNITOF | REMARKS
NUMBER NUMBER MEASURE
1 FE0032 | Heat shrink glove 0.6/1kV, black polyolefin, 2-finger 1 ea
2 GC7842 | Conduit PVC 25 mm, 4 m long, grey 2 ea
3 FE0071 | Heat shrink 0.6/1kV, black polyolefin 15mm 4 mtr
5 CC0079 | Insulation piercing clamp 150 ABC Main to 2 x 35 service 2 ea Max 2
cables
7 HT6320 | Cable protector steel, galvanised channel 1 ea
GF1801 | Fuse holder 100 amp 1 ea
GF1940 | Fuse cartridge 30 amp 1 ea
8 CB3019 | Mounting T-bracket for fuse holders 1 ea
CB3054 | Flowline fuse mounting bracket, steel galvanised 1 ea
9 CCO0101 | Suspension clamp, 95 ABC 2 ea
9 AN2005 | M16 nut galvanized 2 ea
10 AB6733 | Pole bolt — M16 x 400 mm long with nut and washers 1 ea

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Page 51 of 81

Uncontrolled document when downloaded. Refer to DM10 for current version.

Print Date 14/05/2024




PROTECTED

®

FOR 25mm&
THREE PHASE

REVISION DATE
w COMPATIBLE UNIT 2 |MAR 2020
POWER

DISTRIBUTION DESIGN CABLE TO LV BARE DRAWING No.
CATALOBUE 255QMM XLPE LUSt

OPERATIONS DIVISION

- al

DM# 2488202 HPC-1DC-07-0013-2014 Page 52 of 81 Print Date 14/05/2024
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Cu CU DESCRIPTION
LU51_25 25sqmm CU cable to LV Bare Conductor
ITEM STocK DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FE0031 | Heat shrink glove 0.6/1kV, black polyolefin, 4-finger 1 ea
2 GC0010 | Conduit grey PVC, 50 mm x 4 m long 2 ea
3 FE0071 | Heat shrink 0.6/1kV, black polyolefin 15mm 8 mtr
5 PG Clamps - Select from CN9 4 ea
7 HT6320 | Cable protector steel, galvanised channel 1 ea
GF1801 | Fuse holder 100 amp 3 ea
GF1947 | Fuse cartridge 100 amp 3 ea
8 CB3019 | Mounting T-bracket for fuse holders 1 ea
CB3054 | Flowline fuse mounting bracket, steel galvanised 1 ea
9 CC0101 | Suspension clamp, 95 ABC 2 ea
9 AN2005 | M16 nut galvanized 2 ea
10 AB6733 | Pole bolt — M16 x 400 mm long with nut and washers 1 ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 53 of 81 Print Date 21/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

&
N ki
-__A.L______ |

®

FOR 10/16mm
SINGLE PHASE

B
i3 T
) i :
)T 1
4 b b
I._i.l :
| |
R
{___I
M A
E==J I :::-—’1:"' ————————— :-IL——I
IE‘EEJ o l:::i ________________ .}
T
b
IR
—\I
| |
,_L\/\/LA
——-T— (—r-'
c% |
|

e

DISTRIBUTION DESIGN
CATALOGUE

OPERATIONS DIVISION

REVISION| DATE
COMPATIBLE UNIT 3 22/5/2024

(ABLE TO LV BARE DRAWING No.
10/16SQMM XLPE LUS1-2

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Page 54 of 81

Uncontrolled document when downloaded. Refer to DM10 for current version.

Print Date 22/05/2024



PROTECTED

Cu CU DESCRIPTION
LU51_SL Street light cable to LV bare conductor
ITEM STocK DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FE0032 | Heat shrink glove 0.6/1kV, black polyolefin, 2-finger 1 ea
2 GC7842 | Conduit PVC 25 mm, 4 m long, grey 2 ea
3 FE0071 | Heat shrink 0.6/1kV, black polyolefin 15mm 4 mtr
5 PG Clamps - Select from CN9 2 ea
7 HT6320 | Cable protector steel, galvanised channel 1 ea
8 GF1801 | Fuse holder 100 amp 1 ea
8 GF1940 | Fuse cartridge 30 amp 1 ea
9 CC0101 | Suspension clamp, 95 ABC 2 ea
9 AN2005 | M16 nut galvanized 2 ea
10 AB6733 | Pole bolt— M16 x 400 mm long with nut and washers 1 ea
DM# 2488202 HPC-1DC-07-0013-2014 Page 55 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

NOTES:

b

(DPUK LABEL QJ_I_IMIIIQIII
Nore 5 IE%G_Q ﬁ
===
L@
(ONSUMER-—\\\\\
NO CONSUMER /
2 SUPPLY [T———EARTH ROD
r'd |
Y. L
J SIDE VIEW

RO

Y

INTERNAL VIEW

1. PILLARS ARE THE PRIMARY AND PREFERRED METHOD OF SERVICE CONNECTIONS.
USE OF PITS ARE ONLY PERMITTED IN THE FOLLOWING CASES:
A. PILLARS CANNOT BE INSTALLED DUE TO ADVERSE SITE CONSTRAINTS AND ENVIRONMENTAL FACTORS
B. AN EXISTING PILLAR LOCATION IS AT HIGH RISK OF REPEATED DAMAGE
REPLACE VENDOR SUPPLIED PUK (LABEL DISC) WITH HORIZON POWER PUK STOCK CODE FBHO0052.
25mm? SERVICE CABLE (SUPPLY) FOR GELPORT CONNECTORS.

ELECTRICITY

AS3996.2006 CLASS B
5K

OANGER

O

PH: 132351

g

HP_PUK. FBH0052

-~ POWER
DISTRIBUTION DESIGN
CATALOGUE

REVISION| DATE
COMPATIBLE UNIT -
LV SERVICE CABLE PIT DRAWING No.
3 PHASE SUPPLY LUS?

l

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Page 56 of 81

Print Date 10/05/2024

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Cu CU DESCRIPTION
LU52 Below Ground Service Pit
ITEM STocK DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FBO051 | Service pit 1 ea 2x3ph3
services +
1ph UMS
2 FE0109 | 4-finger glove and black heatshrink sleeving 1 ea
3 FE0102 | Red heatshrink sleeving 1 ea
4 FE0103 | White heatshrink sleeving 1 ea
5 FE0104 | Blue heatshrink sleeving 1 ea
6 FEO071 | Black heatshrink sleeving 1 ea
7 CC0846 | 4-port gel port 3 ea
8 EE1205 | 25sqmm earth cable 2 m
9 CE0058 | Double saddle earth clamp 1 ea
10 CE0135 | Earthrod 1 ea
1" CC0851 | 5-port gel port 1 ea
12 FBH0052 | PUK 1 ea
13 (GC0024 | 40mm 4m length conduit (HD orange) 1 ea
14 GC0479 | 40mm 90 deg. Bend conduit 1 ea

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Page 57 of 81

Uncontrolled document when downloaded. Refer to DM10 for current version.

Print Date 10/05/2024




PROTECTED

SEALING SLEEVES (X&)

(Ff (1

MECHANNICAL CONNECTOR (X&)

_: _____________ 1 oo
o0

BREAKQUT ([X1)

LOW VOLTAGE CABLE JOINT KIT

INCLUDING INSTALLATION INSTRUCTION AND CHECKLIST

REVISION| DATE
I-wsz COMPATIBLE UNIT o bss08/202
R DRAWING N
DISTRIBUTION DESIGN LOW VOLTAGE CABLE JOINT KIT ¥ 0
CATALOGUE 255AQMM XLPE - 16SQMM INSULATED CABLE LUS3
OPERATIONS DIVISION

DM# 2488202 HPC-1DC-07-0013-2014

Page 58 of 81 Print Date 10/05/2024
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Ccu CU DESCRIPTION
LU53 Low Voltage Cable Joint Kit
ITEM STOoCK DESCRIPTION Q1Y Rabp UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FJH1625 | Low Voltage Cable Joint Kit 1 Kit

1 x Breakout (Black)
4 x Sealing Sleeves 250mm (Black)
4 x Mechanical Connector

1 x Installation Instruction
1 x Check List

(502K046/S)
(MWTM-25/8-250)
(BSLM-10/50)

(ESD-8261-AU-5/20)
(ESD-1573-AU)

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Page 59 of 81

Uncontrolled document when downloaded. Refer to DM10 for current version.

Print Date 10/05/2024




PROTECTED

TYPE 1 PENDA LAYOUT

SWG maxruse | [ 1] 2] 3] 4]s5]e
TYPE 1.1 PENDA LU63
PENDA BASE LU&1
160A FSD 63A NHOO | LU70
630A FSD 1 % 400A NH2| Lusy | Css|Crss|arss]arsors [ars
910A FSD 1 X 630A NH3| LU6S AN @
1260A FSD 2 X 400A NHZ LU67 R
2000A SWD LINKS SUPPLIED | LU66 SUPPLY POSITION
FSD CABLE TERM | Fuses suepLIED| LUTL| S | S | S | s | S | S (?
T ?
: (TYPE 1 PENDA
E - EMERGENCY RESPONSE GENERATOR AND PADLOCK) s \ ‘l i [
L = LIGHTING CIRCUIT e . :
S = STREET CIRCUIT BUSBAR g
ASSEMBLY
= BUSBAR
= SUPPORT
!
@ ool
LUS6 M Luss
EARTHING :eeuuucuunuue:|
LUG i
{DETAILL B} lolol = + + » 4
I ol
LU70 CABLE CLAMPS g | 1
LusT SUPPORT SECTION |, ]
EARTH ROD
EARTH CLAMP -
EARTH COUPLING . T Y
DRIVING POINT FOR |
EARTH ROD —— =
LU68 LUT CONDUCTOR 70sqmm
LU PVC INSULATED
(PENDA BASE) ——| | COPPER
GREEN/YELLOW
NOTES:-
1. LU66 SWITCH CAN BE USED FOR THE DUAL FEEDER SUPPLY FROM |
THE UPSTREAM SUBSTATION (FEEDERS FUSED AT THE SOURCE) AND
A LARGE CONSUMER.
2.1 X LUt NEEDED WITH EACH LU§9 STREET FEEDER.
3. LUS9 CAN BE USED FOR A STREET FEEDER OR A FUSED CONSUMER SUPPLY.
4.2 X LU NEEDED WITH EACH LUS6_TX WHEN DUAL FEEDER SUPPLY 1S USED.
5. STANDARD DUAL FEEDER SUPPLY ARRANGEMENT SHOWN (HERITAGE SITES ONLY),
DESIGNER MAY DESIGN AN ALTERNATIVE PENDA LAYOUT.
¢. ORDER CEO116 FOR HARD SOIL.
7. CONNECT 70sqmm PVC INSULATED COOPER CABLE (GREEN/YELLOW) TO EARTH
ELECTRODE. INSTALL CABLE AND ROD 1200mm BELOW GL IN NEW SITES.
8. LUT0 MAY HAVE UPTO 2 IN CIRCUIT POSITION 3.
DETAIL B
HOR — . REVISION| DATE
/Izn“~ 0 IBLE UNI 3 1/12/23
DISTRIBUTION DESIGN TYPE 1 PENDA KIOSK REGING) I,
CATALOGUE
LU63
OPERATIONS DIVISION

s

il

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Page 60 of 81

Uncontrolled document when downloaded. Refer to DM10 for current version.

Print Date 10/05/2024



PROTECTED

Cu CU DESCRIPTION
LUG3 Type 1 PENDA Kiosk
ITEM Stock DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 Type 1.1 PENDA 1 ea

Conductor 70mm pvc insulated copper green / yellow 3 metre
Earth rod 2 ea
Earth clamp 1 ea
Earth coupling 1 ea
Earthing Lug 1 ea
Driving point for earth rods 1 ea
Padlock 1 ea
Type 1.1 bus bar assembly 1 set
Bus bar supports 2 ea
Cable clamp support section 2 ea

Use the below Low Voltage Board Order/Quote/Material List (DM# 16874336) to order

LV

Board Order / Quote / Materials List

Project Mame ! Location:

‘western Power Reference Mao:

Required By Date:

‘work Order:

Purchase Order:

Fiequisition Mumber:

Clier:

Motes:
[Delivery Instructions, Contact Details etc]

Fequestors Details:
[Email & Caontact Mumber)

Dielivery Code:
Cluctation: 322778 Quctation + 1032 GST: $250.56
PLEASE ORDER ALL MATERIALS ON PENDA MATERIAL LIST TAB
Customer Requirements
cu Suitchysar
1 [z ]
i Luss Trpas 1.1 FEHDA
i [wa Bars Fur LY kinrk trps 1
= [Luze 1680 Furad ruitch dircmnnsctar
g Luss
Luss
Lus?
LUSS_Curt

TYPE 1.1 PENDA LAYOUT

i r...l_l 1]2]3
Lue3)

PENDA BASE L1

ANG | LUGD)

S

N

ENCY RESPONSE GENERATOR

L = LIGHTING CIRCUIT
5= STREET CIRCUIT

e Base for LV kiosk Type 1 (LU41) required to be selected in order form.

e Use the PENDA ordering form (DM#t 16874336) following the notes to configure the

LV switchgear required for the design. Submit the form to Western Power for a

quotation and then enter pricing manually into the Ellipse CU. There are no pre-

populated materials and costs for PENDA in this CU.

e L U70 is suitable for installation within LU63, Order LU70 where required.

e LU70 may have up to 2 in circuit position 3.

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Page 61 of 81

Print Date 10/05/2024

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

TYPE 2.1 PENDA LAYOUT

SWG maxruse | | 12 ]3] e]s]e]71]s]9]n
TYPE 2.1 PENDA LU6L
PENDA BASE LUL2
160A FSD 1 X 63A DINOO |LU70 LL
630 FSD TX LO0A NH2 |Lugg | C/S|Urs|tss|ars|as|ars]ors
910A FSD 1 X 630A NH3 || uss £
1260A FSD 2 X LOOA NH2 || ug7 C C
2000A SWD LINKS SUPPLIED|LU&6 4 T
FSD CABLE TERM|FUSES SUPPLIED|LUIL| S | S | S |L/S| s [s | s
TX CABLE TERM TX MCCB LU16 T1

TRANSFORMER
CONSUMER
LIGHTING CIRCUIT

T
C
L POSITION
S
E

= STREET CIRCUIT
= EMERGENCY RESPONSE GENERATOR
AMMETER

-——PANEL

0
N

Leh—————

=
=

MAXIMUM DEMAND
AMMETER

AMMETER PANEL

{TYPE 2.1 PENDA
AND PADLOCK)

| =

I e ]

it ==

=

]

Lugs|  1400A BUS BAR
ASSEMBLY

==
)

LU66

WHITE PHASE
CURRENT TRANSFORMER

BUSBAR SUPPORTS

| o

P R
X
.

2000A TRANSFORMER
SWITCH DISCONNECTOR
M12 SWITCH
MOUNTING BOLTS

M12 TRANSFORMER CABLE
TERMINATION BOLTS

TRANSFORMER

LUé8

LU67 v il El!"
LU &2
(PENDA BASE) [
LU

. LU66 CAN BE USED FOR THE TRANSFORMER AND CONTIGUOUS CONSUMER.

. EVERY INSTALLATION SHALL INCLUDE AN ERG CONNECTION LU6B.

.2 x LU70 OR 1 x LU&9 CAN BE USED IN POSITION &,

.1 X LU1L NEEDED WITH EACH LU6% STREET FEEDER OR LU70 LIGHTING CIRCUIT.

. NO GANGED FSD OR SWD PERMITTED SPANING POSITIONS 5 & 6 OR 6 & 7.
. DESIGNER TO USE LU64L_0 FOR OUTDOOR INSTALLATIONS.

O oo~ on U W N

.1 X LU16 NEEDED WITH EACH LU66_TX IN PENDA AND 1 X LU16 FOR LU59 (NON-MPS).
. LU66_TX WILL DEFAULT TO POSITIONS 9 & 10 UNLESS POSITION 1 & 2 IS SPECIFIED BY THE DESIGNER.
. STANDARD PENDA LAYOUT SHOWN. DESIGNER MAY DESIGN AN ALTERNATIVE PENDA LAYOUT.

THREE PHASE
CABLE CLAMPS

TRANSFORMER
NEUTRAL
CABLE CLAMPS

CABLE CLAMP
SUPPORT SECTION

HORIZON (OMPATIBLE UNIT
POWER

REVISION| DATE
1 1471072021

DISTRIBUTION DESIGN TYPE 2.1 PENDA KIOSK
CATALOGUE

OPERATIONS DIVISION

DRAWING No.

LUbL

L=

al

DM# 2488202 HPC-1DC-07-0013-2014 Page 62 of 81

© Horizon Power Corporation

Print Date 10/05/2024

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Cu CU DESCRIPTION
LUG4_| Type 2.1 PENDA Kiosk - | (Indoor)

ITEM Stock DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 Type 2.1 PENDA 1 ea
Maximum demand ammeter 1 ea
Ammeter panel 1 ea
White phase current transformer 1 ea
Bus bar supports 3 ea
1400A bus bar assembly 1 ea
2000A transformer switch disconnector 1 ea
M12 switch mounting bolts 2 kit
M12 transformer cable termination bolts 2 kit
Transformer 3 phase cable clamps (per phase) 2 kit
Transformer neutral cable clamps 1 ea
Cable clamp support section 2 ea

Use the below Low Voltage Board Order/Quote/Material List (DM# 16874336) to order

LV Board Order / Quote / Materals List

Project Mame ! Location:

‘western Power Reference Mo

Flequired By Date:

Wwark Order:

Purchase Dider.

Fequisition Nlumber

Client:

Motes:
(Delivery Instrustions, Cortact Details ete)

Requestars Details:
([Email & Contact Number)

Dielivery Code:
Quatation: 22778 Quotation + 1004 GST: $250.58
PLEASE ORDER ALL MATERIALS ON PENDA MATERIAL LIST TAB
Customer Requirements
Circuit Number nTD‘a_l
cu Switchgear 1 [ 2 [ 2] &« [ s [ & [ 7 [ 8] 3] 1 |Requred

LUsa_l Trpe 2.1 PEHDA (lndunr) L]

LUS4_0 Trpe 2.1 FEHDA (Outdunr) L]
ﬁ LAz Bars Far LY kinrk trps 2 .
£ [wwze 1608 Farad .
w
s E= €308 Fared suitch discmmmectar .

WIS e o hier LU E ALl ar O] =

when LUEd lurrelected

el EXOGT 9 Ymdinqumuiaowss_rx

LUE_Core| 20004 50 ‘ .

LUSE_TT | 28088 Suitol dircannestar | .

oL FOSITION
G oRCUT
o7 € [ & MIONS & & 10UNLESS POSITION 142
renome [LUSE 7 % AN, DESIGNER WAY ™
ASAMES [LUM] 5 5|5 Jus|s |3 WV, DESIGNER MAY DE:
» |we LU
T=TRANSFORMER L = LIGHTING CIRCUIT  E = EMERGENCY RESPONSE GENERATOR
C = CONSUMER §= STREET CIRCUT

e [ U42- Base for LV kiosk Type 2 required to be selected in order form.

e Use the PENDA ordering form (DM# 16874336) following the notes to confiqure the

LV switchgear required for the design. Submit the form to Western Power for a

quotation and then enter pricing manually into the Ellipse CU. There are no pre-

populated materials and costs for PENDA in this CU.

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Page 63 of 81

Print Date 10/05/2024

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

Cu CU DESCRIPTION
LUG4_O Type 2.1 PENDA Kiosk — O (Outdoor)

ITEM Stock DESCRIPTION QTY Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 Type 2.1 PENDA 1 ea
Maximum demand ammeter 1 ea
Ammeter panel 1 ea
White phase current transformer 1 ea
Bus bar supports 3 ea
1400A bus bar assembly 1 ea
2000A transformer switch disconnector 1 ea
M12 switch mounting bolts 2 kit
M12 transformer cable termination bolts 2 kit
Transformer 3 phase cable clamps (per phase) 2 kit
Transformer neutral cable clamps 1 ea
Cable clamp support section 2 ea
Sun shield for Type 2.1 PENDA 1 ea
Padlock 1 ea

Use the below Low Voltage Board Order/Quote/Material List (DM# 16874336) to order

Project Name ! Location:

LV Board Order / Quote / Materials List

‘wlestern Pow er Reference Ma:

Fequired By Date:

‘whork Order:

Purchase Order:

Requisition Number:

Client:

Hotes.
(Delivery Instructions, Contact Details etc)

Requestars Details:
[Email & Contact Number]

Dielivery Code:

Quotation: 22778

Quotation + 103 G5T: $260.56

PLEASE ORDER ALL MATERIALS ON PENDA MATERIAL LIST TAB

Circuit Number

cu

Switchgear

1 [ 2 [ 3] « ] 5 [ &[]z s][s]mw

Total
Quantity
Required

LUSAL  (Trps 2.0 PENDA (ladunr)

Customer Requirements

LUSA O [Trps2.1PENDA (Outdmnr)

Luaz

Luze

Tyoe 2.1 PENDA

Luss

Luss

LusT

LUSS_Gure,

Lus_TZ

Note:

e [ U42- Base for LV kiosk Type 2 required to be selected in order form.

e Use the PENDA ordering form (DM#t 16874336) following the notes to configure the

LV switchgear required for the design. Submit the form to Western Power for a

quotation and then enter pricing manually into the Ellipse CU. There are no pre-

populated materials and costs for PENDA in this CU.

DM# 2488202 HPC-1DC-07-0013-2014 Page 64 of 81

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.

Print Date 10/05/2024




PROTECTED

TYPE 3.1 PENDA LAYQUT

SWG Max FusE[ U [1 ]2 [3Js[s|e[7]af[ofu]n][nr]B][un][n]w
TYPE 3.1 PENDA LUES
PENDA BASE LUL3

160A_FSD REXUINRY /MY
630 FSD 1x o ne [LUs9 Y77 A S| SIS USIUSISIU SISO S ST
9104 FSD x e e 777 & D i
1260a FSD |2 xwmne WT AN 9. S | L | < i)
20004 SWo s sweeuen|LUSS | T2 0777277 O Wi, T
FSD CABLE TERMFUSES SUPPLIED|LU14 //////------/////
TX CABLE TERM| 1x mccB LU1G ///////////A%/A//////%%

T = TRANSFORMER L = LIGHTING CIRCUIT E - EMERGENCY RESPONSE GENERATOR
C = CONSUMER S= STREET CIRCUIT
AMMETER POSITION
PANEL
SUN
= LUGS SHIELD
2 {TYPE 3.1 PENDA FOR
5 AND PADLOCK} TYPE 3.1
H\ PENDA
i MAXIMUM DEMAND INDTE 1}
o AMMETER
tues | | B8 Lusy| |AMMETER PaNeL /_®
WHITE PHASE
LE CURRENT 2000A
{21 TRANSFORMER TRANSFORMER
E“E BUSBAR SWITCH
ol SUPPORTS DISCONNECTOR
] M12
-
rikn LU70 2800A BUS BAR _—1 SWITCH
B Lug? ASSEMBLY MOUNTING
M12 TRANSFORMER BOLTS
CABLE TERMINATION
BOLTS
TRANSFOMER THREE
PHASE CABLE =
1
LU68 LUtg [|CLAMPS
TRANSFORMER LUL3
NEUTRAL . ofs ‘' PENDA
CABLE CLAMPS DOUBLE
CABLE CLAMP BASE)
SUPPORT
SECTIONS
NOTES:-
1. LU66 CAN BE USED FOR THE TRANSFORMER AND CONTIGUOUS CONSUMER.
2. EVERY INSTALLATION SHALL INCLUDE AN ERG CONNECTION 2 X LUSS.
3.2 x LU70 OR 1 x LU69 CAN BE USED IN POSITION &.
4.1 X LU NEEDED WITH EACH LU49 STREET FEEDER OR LU70 LIGHTING CIRCUIT.
5.1 X LU16 NEEDED WITH EACH LU66_TX IN PENDA AND 1 X LU16 FOR EACH LUS9 (NON-MPS).
6. LARGE CONSUMER CONNECTED VIA A 2000A SWITCH [LU66) MUST ALWAYS BE IN POSITIONS 7 & 8 OR 9 & 10.
7. STANDARD PENDA LAYOUT SHOWN. DESIGNER MAY DESIGN AN ALTERNATIVE PENDA LAYOUT.
8. NO GANGED FSD OR SWD PERMITTED SPANNING POSITIONS 5 & 6, 6 & 7 OR 10 & 11,
9. DESIGNER TO USE LU65_0 FOR OUTDOGR INSTALLATIONS.

HO L0 COMPATIBLE UNIT REVFION 14/D1§I§oz1

DISTRIBUTION DESIGN TYPE 3.1 PENDA KIOSK DRAHNG T
CATALOGUE UGS

OPERATIONS DIVISION

L= il

DM# 2488202 HPC-1DC-07-0013-2014 Page 65 of 81 Print Date 10/05/2024
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Cu CU DESCRIPTION
LUGS_| Type 3.1 PENDA Kiosk - | (Indoor)

ITEM Stock DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 Type 3.1 PENDA 1 ea
Maximum demand ammeter 2 ea
Ammeter panel 2 ea
White phase current transformer 2 ea
Bus bar supports 5 ea
2800A bus bar assembly 1 ea
2000A transformer switch disconnector 2 ea
M12 switch mounting bolts 4 kit
M12 transformer cable termination bolts 4 kit
Transformer 3 phase cable clamps (per phase) 4 kit
Transformer neutral cable clamps 2 ea
Cable clamp support section 2 ea
Cable clamp support section 2 ea

Use the below Low Voltage Board Order/Quote/Material List (DM# 16874336) to order

LV Board Order/ Quote / Materials List

Motes:
[Delivery Inztructions, Contact Details cte)

T Ik
Emnil Cantoce Blumb,

.
Diclivery Code:

Guotation $22T.7T5

Guotation + 10% GET $250.56

PLEASE ORDER ALL MATERIALS ON PENDA MATERIAL LIST TAB

Customer Requirements
Circuit Hambar Tatal

||z‘3|4|5|5|1|c|9||o|||||z||3|u||s||6 Raawirad

dorianer. Urs 2 cablar por phars and 1 Far noutral Far allrize tranrFarmerr. See <o
GHED and LUTE in the DOC. Ure 400 Guar,

6L iteh
(TH2] and 15 % 16 (T LUG6 5 LUES ir addod o

LmEr_C.ui

[Tl [y Ry — |

matizally uhen LUES_|ur

28 i

-

7 =

E
e PO o
i
|
i

£ 5 (MERGENCY RESPONSE GENERATOR

Note:

e [ U43- Base for LV kiosk Type 3 required to be selected in order form.

e Use the PENDA ordering form (DM# 16874336) following the notes to configure the

LV switchgear required for the design. Submit the form to Western Power for a

quotation and then enter pricing manually into the Ellipse CU. There are no pre-

populated materials and costs for PENDA in this CU.

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Page 66 of 81

Uncontrolled document when downloaded. Refer to DM10 for current version.

Print Date 10/05/2024




PROTECTED

Ccu CU DESCRIPTION
LUB5_O Type 3.1 PENDA Kiosk — O (Outdoor)

ITEM Stock DESCRIPTION QTY Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 Type 3.1 PENDA 1 ea
Maximum demand ammeter 2 ea
Ammeter panel 2 ea
White phase current transformer 2 ea
Bus bar supports 5 ea
2800A bus bar assembly 1 ea
2000A transformer switch disconnector 2 ea
M12 switch mounting bolts 4 kit
M12 transformer cable termination bolts 4 kit
Transformer 3 phase cable clamps (per phase) 4 kit
Transformer neutral cable clamps 2 ea
Cable clamp support section 2 ea
Cable clamp support section 2 ea
Sun shield for Type 2.1 PENDA 1 ea
Padlock 2 ea

Use the below Low Voltage Board Order/Quote/Material List (DM# 16874336) to order

LY Board Order/ Quote / Materials List

Fraject Name ! Location:

W astern Power Raferance No:
Riequired By Date:

“ark Order:

Purchaze Order:

Riequisition Number:
Client:

MNotes:
[Dielivery Instructions, Contact Details ¢tc)

Zl TIEae:
(Bl Email Connct Blumbart

Diclivery Coda:
Guctation: $L2T.7E Guotation + 10% GET $250.56

PLEASE ORDER ALL MATERIALS ON PENDA MATERIAL LIST TAB

Customer Requirements

Circwit Humbar Tutal
Cwantity
e alel el lolololelelolalel oy

doriqner. Ure 2 zablos por phare and 1far neutral far a
GHED and LUIE in the DDE, Ure 400 Gy an, FEI

5L duith

THE) and 155 46 (TRILLUEE S LLES i 2dds.
T.LUTOir added autamatizally uber LUES_|

Typa 11 PENDS

Ferites) S — | [ [ | :

2
=I5

A st
g
i
-+

4 A Ll
.

IOODn
L

¥ BAPORSE GINRATOR,

Note:

e [ U43- Base for LV kiosk Type 3 required to be selected in order form.

e Use the PENDA ordering form (DM# 16874336) following the notes to configure the
LV switchgear required for the design. Submit the form to Western Power for a
quotation and then enter pricing manually into the Ellipse CU. There are no pre-
populated materials and costs for PENDA in this CU.

DM# 2488202 HPC-1DC-07-0013-2014 Page 67 of 81 Print Date 10/05/2024
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

[ ool g 1oua] |
L 1 1

PLAN WIEW

%
e
i

= |

=

J

]

¢ == #:-—@
"-... -]_ ]

] 1
I

o
O &
K
i

=)

s ke AT

—2

|
| —

[l

NOTE 'I—t

L
&

& ¥

FRONT VIEW SIDE WIEW

O E

MOTES;-

1. FOR OPERATIOMAL EARTHIMG - USE STOCK CODE FBOET
EARTHING KIT ADAPTOR TO SUIT HYLEC PORTAELE EARTHIMG KIT.

HORJZON COMPATIBLE UNIT i W

DISTRIBUTION DESIGN 20004 SWITCH DISCOMMNECTOR DRAWIND Ha.
CATALOGUE LUGE

OPERATIONS DIVISION

DM# 2488202 HPC-1DC-07-0013-2014 Page 68 of 81 Print Date 10/05/2024
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Cu CU DESCRIPTION
LUB6_TX 2000A Tx switch disconnector (incoming supply to PENDA)
ITEM Stock DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FB0862 | 2000A transformer switch disconnector 1 ea
2 FB0872 | M12 switch mounting bolts 2 kit
3 FB0873 | M12 transformer cable termination bolts (per cable) 2 kit
4 FM0203 | Transformer 3 phase cable clamps (per phase) 2 kit
5 FM0200 | Transformer neutral cable clamps 1 kit
Ccu CU DESCRIPTION
LUB6_CUST 2000A Consumer switch disconnector (connection to PENDA)
ITEM Stock DESCRIPTION Qt1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FB0862 | 2000A transformer switch disconnector 1 ea
2 FB0872 | M12 switch mounting bolts 2 kit
3 FB0873 | M12 transformer cable termination bolts (per cable) 4 kit
4 FM0203 | Transformer 3 phase cable clamps (per phase) 4 kit
5 FM0200 | Transformer neutral cable clamps 2 kit

DM# 2488202 HPC-1DC-07-0013-2014

© Horizon Power Corporation

Page 69 of 81

Uncontrolled document when downloaded. Refer to DM10 for current version.

Print Date 10/05/2024




PROTECTED

L1 L1
i i # -]
o ofillllio of
| IATNTH] I_-! T
PLAN VIEW

;T
(
I
\
( ==
\\. j
il
L) NOTE ¢ — B
) iy p L [ 5
= = =
ol ¢ o] -ﬂ_fﬂ\ _
& & @ g=p+—0)

FRONT WIEW S[DE WIEW

NOTES- (\”_j,_.h E E

1. FOR CPERATIONAL EARTHING - USE STOCK CODE FROAT
o - ST c o
EARTHING KIT ADARTOR TO SUIT HYLEC PORTAELE EARTHING KIT. WAVECON CABLE CLAMPS

2. USE 400A HRC FUSES (MARIMUM.

REVISION| DATE

HORIZON COMPATIBLE UNIT o sz
OF & WING Nc.f

DISTRIBUTION DESIGN 12604 FUSED SWITCH DISCONMNECTOR
CATALOGUE (CONNECTION TO PENDA} LUsT

OFERATIONS DIVISION

DM# 2488202 HPC-1DC-07-0013-2014 Page 70 of 81 Print Date 10/05/2024

© Horizon Power Corporation
Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Cu CU DESCRIPTION
LU67 1260A Fused switch disconnector (connection to PENDA)
ITEM Stock DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FB0863 | 1260A fused switch disconnector 1 ea
2 FB0872 | M12 switch mounting bolts 2 kit
3 FB0873 | M12 Wavecon cable termination bolts (per cable) 2 kit
4 FM0204 | Wavecon cable clamps (per cable) 2 kit
DM# 2488202 HPC-1DC-07-0013-2014 Page 71 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




NOTES:-

1. USE 630A HRC FUSES (MAXIMUM).
2. FOR ERG CONNECTION TO PENDA.

PLAN VIEW

FRONT VIEW

SIDE VIEW

e

DISTRIBUTION DESIGN
CATALOGUE

OPERATIONS DIVISION

REVISION DATE
COMPATIBLE UNIT s ss 200
910A FUSED SWITCH DISCONNECTOR DRAWING Ho.
(CONNECTION TO PENDA] LU68

s

_ ]



PROTECTED

Ccu CU DESCRIPTION
LUGS 910A Fused switch disconnector (connection to PENDA)
ITEM STOCK DESCRIPTION Q1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FB0864 | 910A fused switch disconnector 1 ea
2 FB0874 | M12 switch mounting bolts 1 kit
DM# 2488202 HPC-1DC-07-0013-2014 Page 73 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

@

_'_=_|_

t ¥
—

[T ]

FLAN VIEW

]

i

'}'r,n:.

oy
i e, I\E‘/I
= _E-_' I j :|
J[e](] :;ij@
1
@ || & 4
o0
i
FRONT VIEW SIDE VIEW
L
1, USE Lana HREC FUSES [MAXIMUMI, AM
7. FOR OPERATIONAL EARTHING USE STOCK CODE FEOBT WAVELON CABLE
EARTHING KIT ADAPTOR TO SUIT HYLEC PORTABLE EARTHING ®IT. LLAMES

3. FOR WAVECOW COMMECTION TO PEMDA.

_ N REVISION OA&TE
II’IEIL[ZIIL COMPATIBLE UNIT | 1ss 900
IS TRIBUTION DESIGH 6304 FUSED SWITCH DISCONNECTOR DRAWING No.
CATALOGUE [CONNECTION TO PENDA) LUg9
ORERATIONS DIVISION
DM# 2488202 HPC-1DC-07-0013-2014 Page 74 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Cu CU DESCRIPTION
LU69 630A Fused switch disconnector (connection to PENDA)
ITEM Stock DESCRIPTION QT1Y Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FB0865 | 630A fused switch disconnector 1 ea
2 FB0872 | M12 switch mounting bolts 1 kit
3 FB0873 | M12 Wavecon cable termination bolts (per cable) 1 kit
4 FM0204 | Wavecon cable clamps (per cable) 1 kit
DM# 2488202 HPC-1DC-07-0013-2014 Page 75 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

PLAN WIEW

&
T

il

T
il
1
=

I]I] N
i

b6 [T

FRONT VIEW SI0E WIEW

NOTES:-

1. USE 834 HRC FUSES (MAXIMUMIL
I FOR W8 & 25 SOMM TO PENDA,

HORLZON _ COMPATIBLE UNIT R P

DISTRIBUTION DESIGN 1604 FUSED SWITCH DISCONNECTOR DRAWING Na.
CATALOGUE (CABLE CONMNECTION TO PEWODA) LUT0

OJPERATIONS DIVISION

DM# 2488202 HPC-1DC-07-0013-2014 Page 76 of 81 Print Date 10/05/2024
© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Ccu CU DESCRIPTION
LU70 160A Fused switch disconnector (connection to PENDA)
ITEM STOoCK DESCRIPTION QTY Rab UNIT OF REMARKS
NUMBER NUMBER MEASURE
1 FB0866 | 160A fused switch disconnector 1 ea
2 FB0874 | M8 switch mounting bolts 1 kit
DM# 2488202 HPC-1DC-07-0013-2014 Page 77 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

1) REVISION INFORMATION

(Informative) Horizon Power has endeavoured to provide standards of the highest quality and
would appreciate natification if any errors are found or even queries raised.

Each Standard makes use of its own comment sheet which is maintained throughout the life
of the standard, which lists all comments made by stakeholders regarding the standard.

The document DM# 2152546 can be used to record any errors or queries found in or pertaining
to this standard, which can then be addressed whenever the standard gets reviewed.

Date L Notes
No.

0 Western Power Supplied

01/07/2009 1 e  Original Horizon Power issue

21/01/2014 2 Index List CU Description

e LU50_SL_95 & 150 changed to LU50_10_16_95 & 150
e LU51_SL_AL & CU changed to LU51_10_16_AL & CU

LU6 Drawing

e ltem (2) & (6) split to indicate parts
LU9 Drawing & List

e |tems shown better
LU34 Drawing & List

e Item (5) added — cable protector
LU35 Drawing & List

e Item (5) added — cable protector
e Item (3) changed from lug to saddle

LU38 Drawing

¢ W.P.C. removed
e Earth Depth changed from 150 mm to 500 mm

LU50 & LUS1 Drawing & List

e Items (4) and (6) removed

23/02/2018 LU9 Drawing & List

e Item (10) added
LU37 Drawing & List

e ltems (7) & (8) added

3
LU50 Drawing & List
e ltems (9) & (10) added
LU51 Drawing & List
e Items (8), (9) & (10) added
14/12/2020 Resin separated from joint kits, drawing to be updated and also item (1) modified and
4 item (2) created for the following lists:
o LU1
DM# 2488202 HPC-1DC-07-0013-2014 Page 78 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.



PROTECTED

Rev
Date No. Notes
0 Western Power Supplied
e LU2
e LU3
o LU4
e LU5
LUG lists modified
ltem (2) changed from CC0138 to “select from CN9”.
Updating LU14 with new cable termination
e LU14_16/160A
o LU14_25/160A
o LU14_25/630A
New CUs are added:
e LU16
e LUB3
e LU6B4
e LUBS
e LUG6
o LU6B7
e LUBS
e LUBY
. LU70
LU2 and LU3 are duplicates (LU3 removed)
LU8 list modified:
e FJ0247 replaced with FJ0238.
LU9 lists modified:
e Item (4) changed from CC0138 to “PG Clamps — Select from CN9”.
ltem (4) CZ0307 removed from:
e LU10
e LU10_2TERM
e LU10_CABTERM
Removed LU10_SLTERM - Use UM3_R instead.
LU10_W/END
e Replace CZ0307 by UH0088
Removed LU19- repeat of LU1
Removed LU33- Single Phase S/L cable
LU34 GF1177 replaces with GF0505
LU35 GF1188 replaces with GF0512
LU37 added item (9) — Select IPC clamp from CN65
Removed:
e LU38
e LU39
e LU40
o LU44
e LU45
e LU46
o LU46A
DM# 2488202 HPC-1DC-07-0013-2014 Page 79 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

Rev
Date No. Notes
0 Western Power Supplied
o LU47
o LU49
GF0550 is replaced with GF1940 for:
e LUS0_SL 95
e LU50_SL 150
e LU50_SL
LU5S1_25 AL renamed to LU51_25
Iltem (5) changed to “PG Clamps — Select from CN9”
LU5S1_SL_AL renamed to LU51_SL
ltem (5) changed to “PG Clamps — Select from CN9”
LU51_25 CU removed
LU51_SL_CU removed
Modified LU52 — Changed to 3Ph Service Pit
Stock item descriptions updated for consistency.
Removed LU14_185.
28/04/2021 FC0498 is replaced with FC0499 for:
e LU6_240
o LU9 240
5 e LU37_240
Removed:
e LU6_120,
e LU9 120
e LU37_120
30/10/2021 LU1 list modified
e FJ0043 replaced with FJ0063
e KC0002 replaced with KC0014
LU2 list modified
e FJ0042 replaced with FJ0062
e KCO0002 replaced with KC0014
LU4 list modified
e FJO047 replaced with FJ0O067
6 e KCO0002 replaced with KC0014
LUS5 list modified
e FJO046 replaced with FJ0066
e KCO0002 replaced with KC0014
LU12 list modified
e FJ0241 replaced with FJ0056
Remove LU6_185
Remove LU6_240
LUB3, LUB4, LU65, LU66, LU67, LUB8, LUB9 and LU70
DM# 2488202 HPC-1DC-07-0013-2014 Page 80 of 81 Print Date 10/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




PROTECTED

Rev
Date No. Notes
0 Western Power Supplied
e Update Order form with new version
e Update notes of LUG3
Remove LU9_185
Remove LU37_185
30/08/2022 Add LU53
. Update LU63 drawing to rev 2
13/02/2024 8 Added CAH1018 and CAH1019
LU41, LU42 and LU43
21/5/2024 Stockcode added to LU66, LU67, LU68, LU69,LU70
9
DM# 2488202 HPC-1DC-07-0013-2014 Page 81 of 81 Print Date 21/05/2024

© Horizon Power Corporation

Uncontrolled document when downloaded. Refer to DM10 for current version.




	LOW VOLTAGE UNDERGROUND LIST

		2024-05-22T12:40:25+0800
	Andrew Nguyen


		2024-05-22T12:51:04+0800
	Kai Chong Jee


		2024-05-22T12:57:05+0800
	Johnathan Choi


		2024-05-24T11:33:05+0800
	Victor Cheng




